BILBAO 	Eje X: V EXTR; 	Eje Y: Tu;	Eje Z: días Q AUX=0

SISTEMA ACUMULACION VARIABLE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [217, 125, 64, 23, 2, 0, 0, 0, 0, 0;
159, 75, 23, 0, 0, 0, 0, 0, 0, 0;
111, 33, 2, 0, 0, 0, 0, 0, 0, 0;
77, 8, 0, 0, 0, 0, 0, 0, 0, 0;
36, 0, 0, 0, 0, 0, 0, 0, 0, 0;
19, 0, 0, 0, 0, 0, 0, 0, 0, 0;
2, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];

SISTEMA ACUMULACION CONSTANTE
x= [45, 60, 75, 90, 105, 120, 135, 150, 165, 180];
y= [40, 45, 50, 55, 60, 65, 70, 75];
z= [93, 36, 7, 0, 0, 0, 0, 0, 0, 0;
44, 5, 0, 0, 0, 0, 0, 0, 0, 0;
12, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0;
0, 0, 0, 0, 0, 0, 0, 0, 0, 0];


